JACKPOT (1/2)
Prog 0 :

"JACKPOT"




0CARSPECIAUX 174 \f "Symbol"M


Lbl 3





A=BCARSPECIAUX 222 \f "Symbol"B=CCARSPECIAUX 222 \f "Symbol""JACK!"


Mcl





A=BCARSPECIAUX 222 \f "Symbol"B=CCARSPECIAUX 222 \f "Symbol"V+5LCARSPECIAUX 174 \f "Symbol"V


100CARSPECIAUX 174 \f "Symbol"V




A=BCARSPECIAUX 222 \f "Symbol"V+2LCARSPECIAUX 174 \f "Symbol"V


Lbl 1





A=CCARSPECIAUX 222 \f "Symbol"V+2LCARSPECIAUX 174 \f "Symbol"V


"MISE:"




B=CCARSPECIAUX 222 \f "Symbol"V+2LCARSPECIAUX 174 \f "Symbol"V


?CARSPECIAUX 174 \f "Symbol"L





ACARSPECIAUX 185 \f "Symbol"BCARSPECIAUX 222 \f "Symbol"ACARSPECIAUX 185 \f "Symbol"CCARSPECIAUX 222 \f "Symbol"BCARSPECIAUX 185 \f "Symbol"CCARSPECIAUX 222 \f "Symbol"V-LCARSPECIAUX 174 \f "Symbol"V


Int LCARSPECIAUX 174 \f "Symbol"L




"VOUS AVEZ:"


L>VCARSPECIAUX 222 \f "Symbol"Goto 1




V@

L<0CARSPECIAUX 222 \f "Symbol"Goto 1




VCARSPECIAUX 179 \f "Symbol"10000CARSPECIAUX 222 \f "Symbol""BALESE!"


L=0CARSPECIAUX 222 \f "Symbol"Goto 2




VCARSPECIAUX 163 \f "Symbol"0CARSPECIAUX 222 \f "Symbol""PERDU!"


L<10CARSPECIAUX 222 \f "Symbol""P'TIT JOUEUR!"@


VCARSPECIAUX 163 \f "Symbol"0CARSPECIAUX 222 \f "Symbol"Goto 2


Int 8 Ran#CARSPECIAUX 174 \f "Symbol"A



Goto 1


Int 8 Ran#CARSPECIAUX 174 \f "Symbol"B



Lbl 2


Int 8 Ran#CARSPECIAUX 174 \f "Symbol"C



"1°) CONTINUER"


Prog 2




"2°) FIN"


A=0CARSPECIAUX 222 \f "Symbol"Prog E




?CARSPECIAUX 174 \f "Symbol"P


A=1CARSPECIAUX 222 \f "Symbol"Prog 3




P=1CARSPECIAUX 222 \f "Symbol"Goto 3


A=2CARSPECIAUX 222 \f "Symbol"Prog 6




Cls


A=3CARSPECIAUX 222 \f "Symbol"Prog 7




Range -4.7,4.7,1,-3.1,3.1,1


A=4CARSPECIAUX 222 \f "Symbol"Prog A




Mcl


A=5CARSPECIAUX 222 \f "Symbol"Prog B


A=6CARSPECIAUX 222 \f "Symbol"Prog C


A=7CARSPECIAUX 222 \f "Symbol"Prog D


M+1.2CARSPECIAUX 174 \f "Symbol"M


B=0CARSPECIAUX 222 \f "Symbol"Prog E


B=1CARSPECIAUX 222 \f "Symbol"Prog 3


B=2CARSPECIAUX 222 \f "Symbol"Prog 6


B=3CARSPECIAUX 222 \f "Symbol"Prog 7


B=4CARSPECIAUX 222 \f "Symbol"Prog A



B=5CARSPECIAUX 222 \f "Symbol"Prog B


B=6CARSPECIAUX 222 \f "Symbol"Prog C


B=7CARSPECIAUX 222 \f "Symbol"Prog D


M+1.2CARSPECIAUX 174 \f "Symbol"M


A=0CARSPECIAUX 222 \f "Symbol"Prog E@

C=1CARSPECIAUX 222 \f "Symbol"Prog 3@

C=2CARSPECIAUX 222 \f "Symbol"Prog 6@

C=3CARSPECIAUX 222 \f "Symbol"Prog 7@

C=4CARSPECIAUX 222 \f "Symbol"Prog A@

C=5CARSPECIAUX 222 \f "Symbol"Prog B@

C=6CARSPECIAUX 222 \f "Symbol"Prog C@

C=7CARSPECIAUX 222 \f "Symbol"Prog D@


(CARSPECIAUX 196 \f "Wingdings")

JACKPOT (2/2)
Prog 2 :





Prog B :

Cls






Plot 1.8+M,3.5


Range 1,5,1,1,5,1




Plot 1.4+M,2.5:Line


Plot 1,1





Plot 2.2+M,2.5:Line


Plot 5,1:Line





Plot 1.8+M,3.5:Line


Plot 5,5:Line


Plot 1,5:Line




Prog C :

Plot 1,1:Line


Plot 1.2,2





Plot 1.4+M,3.5


Plot 4.8,2:Line




Plot 1.4+M,2.5:Line


Plot 4.8,4:Line




Plot 1.8+M,3.5


Plot 1.2,4:Line




Plot 1.8+M,2.5:Line


Plot 1.2,2:Line




Plot 2.2+M,3.5


Plot 2.4,4





Plot 2.2+M,2.5:Line


Plot 2.4,2:Line


Plot 3.6,4




Prog D :

Plot 3.6,2:Line









Plot 1.8+M,3.5

Prog 3 :






Plot 2.15+M,3:Line









Plot 1.8+M,2.5:Line


Plot 1.45+M,3.5




Plot 1.45+M,3:Line


Plot 2.15+M,2.5:Line



Plot 1.8+M,3.5:Line


Plot 1.45+M,2.5


Plot 2.15+M,3.5:Line


Prog E :
Prog 6 :






Plot 1.4+M,3









Plot 2.2+M,3:Line


Plot 1.4+M,3.5


Plot 2.2+M,3.5:Line


Plot 2.2+M,2.5:Line


Plot 1.4+M,2.5:Line


Plot 1.4+M,3.5:Line

Prog 7 :

Plot 1.4+M,3.5


Plot 2.2+M,3.5:Line


Plot 1.4+M,3


Plot 2.2+M,3:Line


Plot 1.4+M,2.5


Plot 2.2+M,2.5:Line

Prog A :

Plot 1.4+M,3


Plot 2.2+M,3:Line


Plot 1.8+M,3.5


Plot 1.8+M,2.5:Line

